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Jim Stiles The Univ. of Kansas Dept. of EECS 

Special Problem 1.5-2 
 
Amplifier A1 has: 

an input resistance of 750 Ω. 
an output resistance of 10KΩ. 
an open-circuit voltage gain of 100 V/V.  

 
Amplifier A2 has: 

an input resistance of 30 KΩ. 
an output resistance of 50 Ω. 
an open circuit voltage gain of 1 V/V. 

 
A voltage source with a source resistance of 250Ω is connected to the 
input of the first amp. 
 
The output of the first amp (A1) is connected to the input of the 
second (A2). 
 
The output of the second amp is connected to a load of 50 Ω. 
 
I.E., 
 
 
 
 
 
 
 
 
 
 

What is the value of ( ) ( )out sv t v t  ? 
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